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Initially attracted because of opposite charge. v'1
(+ve or —ve)

Then neutralised and charged positive and hence
repelv'1.

Charging by contact and law of electrostatics. v'1
- Distance = 2f =2 x 25v'% = 50cm. v
Alternative

Just 50cmv1

Or

2x25=50cmv%

Or

Implies low currentv’1 So reducesv' 1 heat losses/
power loss. Or

I°R loss reduced.

P = I°R should be accompanied by power loss
NB: Heat tosses/ Power Loss

- More nractice/ relatinnehin hahwean f and +

1000
14. Look for biasing only. (any other_dewce that does
not affect the working should be ignerediie. g
diodes/ resists. .

15. (a) (i) Current faiis off to zerov 4/ fallinato zero/
deflects to max. then zero:
Reducing gradually or after sorfiélime.

W) =0@Tdnidhias when(fev@ipheiteris

chargingv'1
When fully efiargedrcamrenestopsiNo
current) and P.d igjequathio’chaiging
voltagev'1.
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i .
Vy =T, n=_t 1= 1257 Time (s)
Accept all expression.
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Cy= q+L’n/1 5.22 nFv1
Accept 5.22pF only

Change on series section = Q = Cvv1
=2 x10v11C

=22.2uC or

Q series = Qr — QauFv'1
=(5.22-3)x 10vuC1

=22.2vuC1

Charge is the same on series section.
henee chargeon 5AuF.is 22,2061
Accept 22.21C only.

16. (a) (i) Eact: ray;lamindndipgnaraty, ok-or adited

extrapglatign:

I {c) Rr=3+0.75+Rv1,

0.15(R+3.75) = 1.5¥1

Rr=R+3.75 R+3.75= == = 10
E = IRy —10-3.75
1.5=I(R + 3.75) = 6.250v1
Or

R=%=1%=10v1

/ 0.15

R =Rr—{V + 3)v1+375

R = 6.250v1

15-0.75x0.15 = 1 (3 + R) V1
1.65-0.1125 = 0.15(3 + R)

1.3875

B/ -3 +R

= 6.250v1

- (a)

(i) Deflected towards +ve plate (N)v'1

(!’i) Deflection will be greater. v'1

(iii) 1. Spot moves back and forthv'1.
To and fro (Not along across}
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- - - I . 3 (b) Electrons are given off as a result of heat
: produced by currentv'1.
; So that electrons gain energy to break off
from the surfacev'1.
Thermionic emission.
Increasing the filament currentv'1 so that
more electrons are releasedv'1.
p.d across filament is increasedv'1 o that
more electrons are releasedv'1.
(d) P=1vv1

=100x1.5x10°

=1.54/sv1

Accept J, W, Jis
(iy 1. 50mmv 1 £5mm 19. (a) Intensitty of radiationv'1.

o (b) () (Min p.d) , o
I M=2= fvq=2=2mmv 1402 Negative potential sufficient to just stop
' ho 25 - the movement of electrons.
~ . h
(iii): Move the object towards F but not beyond' 1 (i 1. Gradient = Zv'1
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(a) (i) Lo (ii) Brighter
(iii) Total resistance is less/ reducedv'!

(b) (i) 1.5Vv1
(i) Ir=15-12=0.3v1
0.4r=03
V= 0.75RV |
P.d and E.M.F/ more practice and practical
approach.

(12-44) x 7.6 x 1014

7.6x 101%
Gradient = 0.3947 x 107" LY =17571,
h=0.3947 x 10" x 1.6 x 107° ¥

W =Y intercept x e
_ 175x16x1071%
16x10719)

=1.75evv'1

=0.6316 x 10% = 6.316 x 10°*

Alternative

Wo = hfgv 1

= 632x44x10 X 10730
- 16x10719

=174evv]
OR

Range 1.7 —> 1.8gv

% =Y intercopl
Les175 ez 47502 =175
Wy = 1.75ev OR Wg=175vxe
OR = 1.75ev

Yo - 175ev

OR

Wo = 1.75v2% » Reject 1.75v = Wg

Penalise —ve and units in
WQ =Y intercept
=-1.75
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K.C.S.E YEAR 2010 PAPER 2 MARKING SCHEME

- Reflected ray rotates 2 x 20 = 20°. v'1

- Find deviation = (80° + 20°) = 100°v'1

- Any slight deviation of the N-pole to the
rightv'1

- Correct pales. v'1 Correct direction + patternv’ 1

9.

M.

13.

10.

S 5 s 5
20g > 10g 5g 2.5g

1.25g 2
Mass remaining

o — Initial current

L="7lo
P=IZR:I§R/1 p=

Ube=4MiR/1
Power is 49 times the initial valuev'1
Apply the power formula.

Motion out of paper/ moves,upwa((_js. v
Or Increases in p.d increasesiheatingeffsct.

. Increasing thé'arcelerating voltegedd OR

Increase the’ Pt between-afiode apd cathade.
Accept extra high tension increased.
f=%=2

_300108 o gl
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